A L & 3 =
A B B R 25 9 A 17 B 9:30~ IEXEE Hh 15} 25 (e =2
I = % EENR/ B TRE()SEEETS
I % 35 NFEERKET ¢ BEE A
e £ Bl |BREERRIZEOEEZNICRIELHREAILSNEORBEEICEDITIEREITo-.
ZHEEEFIAA) 30,030,000 FEMEERE) 29,173,000 RIEFIR A% (Fith=) 24,065,000
3 - A ®H O #H (FA) % &
|
g & % F £ (505IR) Z 1 @ % 2 O % 3 5 e
R 31,100
T Er 4l 28,600 L 24,200
M ERIRER 28,800
AR T ER R
FHER® 32,000
[T 32,600
= AR 31,500
1L O 52 ER 6N 31,000
: BB X IE & R st HEHE 2 # B B | FR25F9IHA24H
RUOWFA —5 TR T e T HGEE) [T 25E9 300
SHEE T 5270.0m I RiGERK) Tk 26 % 1 B 11 B
BARUTERE LERET 5330.0m R £14
XE#HT 2320.0m

{i5%  AFLEECEFLER) ICHEZEEDS%ICH AT A EMEMB LR EAER L O ASLBMBCEALMEE) THS.




